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1. Find the following limits if exists.  (20%)
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2. Evaluate the following integrals.” (20%)
(a) (Inx)? dx. -
b) ft3yt—1dt.

(c) fsin?2x dx.
(d) [ e*cosx dx.

3. Giventhat f(2) =8, g(2) =2, f'(2) = 1, and g'(2) = —2. Find
(a) (f* +g2)'(2).

(b) (T/8) (). (10%)

4. Using differential to approximate the values e %% and +/0.992 + 0.032. (10%)

5. Find the maximum and minimum values of the function f(x,v,2) = x+ 2y — z
onthe sphere x% 4+ y? + 22 = 24.  (10%)

- 6. let f(x) =x® - 4x and g(x) = 5x. Find the area of the region bounded by the
graphs of y = f(x) and y = g(x). (10%)
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7. 'Suppose that a child is inflating a spherical balloon and we know that the balloon
is being inflated at a rate of 100 cm3/sec. Using this information to determine
the rate at which the radius is increasing when the radiusis9 cm.  (10%)

A company determines that the profit resulting from the sale of x of its products
per week is P(x) = 160 — 96x + 18x? — x? dollars. Find the maximum and

minimum values for this function on the interval [0,10] and the sales level x at
which each occurs. (10%)
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